Ergebnis P.O.R.

F

Streckel

Strecke2

ZT' Lange(Km): 6,1 Km/h: 7,0 Lange(Km): 4,7 Km/h: 10
é_ = Idealzeit : 0:52 Idealzeit : 0:28
= 4% Start KP1 KP1 KP2
G} & |Name Vorname Fehler Abritt Ankunft Reitzeit Zeitfehler Tor Abritt Ankunft Reitzeit Zeitfehler
1| 21|Elges Sigrid 81 8:40 09:37 00:57 5 09:47 10:14 00:27 1
4| 24|Bundels Roderik 47 8:55 09:56 01:01 9 10:01 10:30 00:29 1
4] 25[Hahn Nadine 47 8:55 09:56 01:01 9 10:01 10:30 00:29 1
6] 26|Remke Hans-Jurgen 119 9:05 09:54 00:49 3 09:59 10:21 00:22 6
8| 27|Schneider Jessica 11 9:15 10:05 00:50 2 10:10 10:38 00:28 0
8| 28|Schmidt Anna-Lena 11 9:15 10:05 00:50 2 10:10 10:38 00:28 0
10 29|(Wenzel Rainhild 54 9:25 10:22 00:57 5 10:27 10:54 00:27 1
10| 30|Richwin Teresa 54 9:25 10:22 00:57 5 10:27 10:54 00:27 1
12| 32|Wagner Michael 75 9:35 10:34 00:59 7 10:39 11:08 00:29 1
12| 33|Wagner Leonie 75 9:35 10:34 00:59 7 10:39 11:08 00:29 1
14| 34|Kopnarski Lena 45 9:45 10:40 00:55 3 10:50 11:13 00:23 5
16| 35(Wendt Anja 119 9:55 10:40 00:45 7 10:45 11:06 00:21 7
20| 37|Gaukler Madelaine 14 10:15 [ 11:09 | 00:54 2 11:14 | 11:40 | 00:26 2
21| 38|Grober Lea 70 10:20 11:11 00:51 1 11:16 11:38 00:22 6




Strecke3

Strecke4

Strecke5

Lange(Km): 2.278 Km/h: 8,5 Lange(Km): 6,5 Km/h : 8,5 Lange(Km): 5,7 Km/h : 8
Idealzeit : 0:16 Idealzeit : 0:45 Idealzeit : 0:42
KP2 KP3 KP3 KP4 KP4 Ziel
Tor Abritt Ankunft Reitzeit Zeitfehler Tor Abritt Ankunft Reitzeit Zeitfehler Tor Abritt Ankunft Reitzeit Zeitfehler
10:24 10:52 00:28 12 10:53 11:59 01:06 21 12:08 13:02 00:54 12
10:40 11:14 00:34 18 11:15 12:09 00:54 9 12:18 13:10 00:52 10
10:40 11:14 00:34 18 11:15 12:09 00:54 9 12:18 13:10 00:52 10
10:31 10:32 00:01 15 10:32 11:18 00:46 1 11:30 12:16 00:46 4
10:48 11:11 00:23 7 11:12 11:58 00:46 1 12:03 12:46 00:43 1
10:48 11:11 00:23 7 11:12 11:58 00:46 1 12:03 12:46 00:43 1
11:04 11:22 00:18 2 11:23 12:17 00:54 9 12:23 13:12 00:49 7
11:04 11:22 00:18 2 11:23 12:17 00:54 9 12:23 13:12 00:49 7
11:18 11:44 00:26 10 11:45 12:31 00:46 1 12:41 13:49 01:08 26
11:18 11:44 00:26 10 11:45 12:31 00:46 1 12:41 13:49 01:08 26
11:23 11:45 00:22 6 11:46 12:30 | 00:44 1 12:36 13:18 | 00:42 0
11:16 11:40 00:24 8 11:41 12:19 00:38 7 12:28 13:10 00:42 0
11:50 12:02 00:12 4 12:03 12:42 00:39 6 12:48 13:30 | 00:42 0
11:48 12:19 00:31 15 12:20 13:03 00:43 2 13:09 14:07 00:58 16
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